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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. Define economic problem. What are the basic

economic problems of Indian economy ?

Nt AT BT IRV BT | YRR refegarer
BT T SIS FHRIAT W IS Sfery |

2. Define national income. Describe the methods of
estimating the national income.

TR AT B gRIIRT HINT | I A A9 @l
Afeat @1 i P |

3. What is Globalization ? Give arguments for and
against the globalization.

JeqexT 1 2§ ? G & Uy Ud faug § qo
V() DHITY |
4. What do you understand by Industrial Disputes ?

Critically examine the basic causes for industrial
disputes in an organisation.

e faareal & oMU T FHe & 0 WUl H
e fdacl & qo BRON & qHEHe  [daaE
HINTY |

Section-B / YUs—{

(Short Answer Type Questions) / (79 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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1. Distinguish between Public and Private Company.

forof ok Ardwifie et & 9T P |

2. Describe the forest resources of Uttarakhand.
SIRGUS Bl 9 LT BT qUH BIfoTU |

3. Describe NITI Ayog.
I SRINT &7 U DI |

4. What are the factors responsible for indebtedness of
Indian farmer ?

IR fFM @ FRRAd & folt -39 HRY
SIRER § ?

5. Write the obstacles in the way of implementing the
GST.
. T, O A BRA H & dTell dfonrgdt T € ?

6. Give distinction between partnership and limited
liability partnership.

RGN U AT S ARien] H 3R S |
7. What are the features of Jeevan Jyoti Insurance
Scheme ?

Sia S a1 Ao @) faedd ae-oe 9 8 ?

8. What is the problem of NPA in banks ?
dof # v 0. T @ 9 R/ L ?
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Section-C / GUvs—1T
(Objective Type Questions) / (@IS J)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.

gue T H T4 (10) TS T I W | IS
7 B oI e (01) 3 fwiRa 21 3@ wue &
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Choose the correct alternative :

e fade g

1.

In place of Planning Commission, the newly
established institution is :

(@ Finance Commission

(b) Administrative Tribunal

(c) NITI Aayog

(d) None of the above

ST TART & RIF R UG -3 dRefl (=feriaa
AP g ?

(&) facT emamT

(@) gam® AHHRoT

(@) e ST

(8) SWad H | I T

The SARFAESI Act, 2002 is related to :
(@ Land reforms
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(b) Tax reforms
(c) Insurance reforms
(d) Banking reforms

e AffTH, 2002 fooesy TR 8 7
@) I g

(@) @ PR

(@) & gEr

@) df@T guR

The census of population is organized after every :
(@) Five years

(b) Ten years

(c) Fifteen years

(d) None of the above

SO ffeRed § 9 e aut a1g st @
SR B 7

(@) df= 9y 91Q

@ <9 aR

(@) u=E 9 9%

@) Swa ¥ @ P T

The SDR refers to :

(@) Special Drawing Right

(b) State Drawing Right

(c) Special Dollar Right

(d) Specific Dollar Right
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T, Sl AR BT QU wY EfeRad H 9 R/ g ?
(31) Wl QIS WIsC

(@) < Q8T VEe

(@) el STeR Wge

(7) wWithe STeR g

. The associates of SBI are merged into :

(@ RBI

(b) SIDBI

(c) Mudra Bank

(d) None of the above

T §F @ Al 9o a1 faoy fefaied ¥ 9 foa
d H gam B ?

(1) . 1. aTs.

(@ fed

() 7o d®

@) SR A W P

In ordinary business the maximum number of partners
can be :

@ 20

(b) 15

(c) 10

(d 5

A BRER H  AEGERI @ A0EHTH R
ffoRed # & fpaer & daa § ?

(@) 20
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GST stands for :

(@) General Standards for Trade
(b) General Sales Tax

(c) Goods and Services Tax

(d) None of the above

TS, @ e ffeRed # foas g °
(@) TR KrEEH BR $

(@) SRS Ao S

(@) Te9 ve Aidwd <o
Swgad # W Plg T

NPA is related to :

(@) Bank reforms

(b) Insurance reforms

(c) Taxreforms

(d) All of the above

‘o, 0. v ffoRed # 9 fas wrfa 2 °

@) 5 guR
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A partnership firm cannot raise funds by :

(@) Debenture issue

(b) Bank loan

(c) Partners loan

(d) All of the above

@ RN B Pl W few wEe 9 i
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(@) WERER ¥ F g

(@) wwda i

In the field of development banking, MUDRA stands
for:

(@) Micro Units Development Refinance Agency

(b) Macro Units Development Refinance Agency

(c) Manufacturing Units Development Refinance
Agency

(d) None of the above

faera ST & e | qar o Ry FEfeRed | 9

T ?
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